50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

18EC62

:Wf‘ @,P’
>mester B.E. Degree Exawn ati
i o)
Embedded ystems

*Module-l

List the different registers of" CORTEX-M3 and mentlon thelr use. Explain the use of

link register with an 111us%é?1 (08 Marks)
Explain Program St lustrate how to access different
subdivisions of PSR (06 Marks)
iong. ¢ {06 Marks)
(08 Marks)
(06 Marks)
(06 Marks)

Explain following instructionof ARM CORTE with suitable 111‘ustmﬁon
(1) BIC (i1) SBE;)% ’ (ii1) RE? (@iv) LDRH (08 Marks)
Write an assembly language program to fi of all even num ersina given array of 10
numbers. ‘ (06 Marks)
Explain cond1t1@nal?e ecution using I&‘ﬁ%tructlons with an amam]ole (06 Marks)

ajﬁ@

ﬁ%

- % with illustration. How rotate left

O

Explain all, shlﬁ and rotate i ins!

OR
Q%IODS of CORTEZ

operatfbn ‘can be implemented?: (10 Marks)
Write" mm}assembly langua' rogram to determine the parity of a 32 bit number. If even
parlty store 00h in a memory location otherwd“%tore FFh in the location. (06 Marks)

sume RO = 0X12345678;

456 R1 —OXFEDEBf\@IZ Write the result after executing following
tructions: €\

(i) BFC.W R0,%8,#16 ¢

(i) UBFX.W, RO,RI,#4,#8
(iiiy BFLW, "R, RO, #8, #16

(iv) REVSH) RI,RO A (04 Marks)
&

ﬁ'%m

”%%W Module-3
Explain Big Endian andghtvge Endian operation and give examples. (06 Marks)
With a diagram, explain SRAM cell implementation and its working. Give comparison
between SRAM ar dDRAM cells. (08 Marks)
Explain the secluerfé;é“bf operation for communicating with an I2C slave device. (06 Marks)

- OR
lof 2
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V Efxplaln the advantages gf simulation based de

18EC62

Give comparison between RISC and CISC. { (06 Marks)

With a circuit diagram, explain how input and outp(%wc%mts ofa processor can be isolated.
(06 Marks)

Explain SPI Bus interfacing and sequence of’ s%peratlon for communicating with a SPI
device. (08 Marks)

Explain characteristics of an embedd; stem with examples for eagh (06 Marks)

Explain state machine model (F Sl\g by.considering automatic &at belt warning system.
s, (08 Marks)

Discuss advantages and draw ﬁ% ‘of super loop based ﬁrm%e design approach. (06 Marks)

& OR
Explain any six nonope nal quality attributes. Exjg Wi%wi)roduct life cycle curve. (10 Marks)
Design an automatic tea/coffee vending machine ‘based on FSM model for the following
requirement: ' N #
The tea/coffee ‘gené g is initiated by user ms%g a 5 rupees coin. After inserting coin, the

user can e1ther selecgf ‘Coffee’ or ‘Tea’ or press*“Cancel’ the order and take back the coin.
W/ (06 Marks)

a’ssgmbly language to machme language conversion process with block diagram.
(04 Marks)

Explain th

Explain monolithic and micro kernels w1th sultable e%mple for each. .« (06 Marks)
Explain task, process and threads. ks o (08 Marks)
Three processes with pic ca s IDs Pl, P2 P3. with”estimated completion time 10, 5, 7 ms
respectively enter the re%@ queue together | m%%der P1, P2, P3, Calculate waiting time and
turn around time for each process and av&%&ge waiting time aﬁ%ﬁ@AT (Assume there is no
/O waiting for th‘%pmcesses) . %@W (06 Marks)
)’ 3 CMRIT LIBRARY
4 BANGALORE 560 037

Explaln dlfferent conditions tha;\“.”%@szour deadlock. EX%% in techniques to detect and prevent

LN (08 Marks)

concept of counting semaphore. Give real world example.
(08 Marks)

gging. (04 Marks)

With & bl ck diagram, expla
ay,

L 20f2




